AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

	d Location:				ate: 3-25-19
, Rodney lo hereby reque	Bland est station time cond	cerning the foll	owing issue:		
Mayor 4	-City Counc	cil Naces			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
	Sec	Attachl			
atal Chave	- O.D.				
otal Charg	me will be used by:	_	.Inc.		
oes the pr essage re	ogramming (i lating to any	n whole or political m	in part) catter of na	ommunicate itional impor	"a tance?"
	□ Yes] No	

importance," list the name of the loffice(s) being sought and the date	legally qualified candidate(s) th	e programming refers to, the
NIA		
For programming that "communication importance," attach Agreed Upon S	ates a message relating to any p Schedule (Page 3)	olitical matter of national
I represent that the payment for the	e above described broadcast tin	ne has been furnished by:
Freedom Jinc.		
and you are authorized to announce furnishing the payment, if other that		erson or entity. The entity
a corporation; a committee	tee; \square an association; \square or	other unincorporated group.
The names, offices, and addresses of agents of the entity are named below		
THIS STATION DOES NOT DISC OF RACE OR ETHNICITY IN THE		
I agree to indemnify and hold harmles reasonable attorney's fees, that may en advertisement(s). For the above-state transcript, or tape, which will be deli- before the time of the scheduled broad	sue from the broadcast of the a ed broadcast(s), I also agree to ivered to the station at least	bove-requested
TO BE SIGNI	ED BY ISSUE ADVER	RTISER
Date Signs	ture 8	Contact Phone Number
TO BE SIGNED	BY STATION REPR	ESENTATIVE
Accepted	Accepted in Part	Rejected
Signature Signature	Printed Name	Title

Gail McCain Beatty	1202 Brooklyn KCMO	816.483.8683
--------------------	--------------------	--------------

Rodney Bland 1202 Brooklyn KCMO 816.483.8683

Shallon Curls 1202 Brooklyn KCMO 816.483.8683

Bruce Beatty-Treasurer 1202 Brooklyn KCMO 816.483.8683

Sales Order

Station:	KPRT-AM				Buyer:							
	Freedom Inc AM											
Contract#:				(none)								
Start Date:	3/26/19	End Date:	4	/02/19	Billing Cycle:	Standard						
Revenue Type:	Political/Direct		Type:	Cash	Salesperson:	1996jtin	Comm	%: 20				
Advertiser:	FREEDOM INC.	(D)			Makegood Polic	y: Within Contract	Dates					
Address:	PO BOX 300016											
City:	KANSAS CITY											
Phone:	(816) 483-8683											
Product Name:	Candidates/Prima	ary										
	e: POLITICAL/LOC											

No	DATES A		Alt	TIMES		LEN		DISTRIBUTION								TOTALS			
	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	PTY
1	3/26/19	3/29/19		6:00 AM	10:00 AM	60		2	2	2	2			8	D	20.00	8	160.00	
2	3/26/19	3/29/19		10:00 AM	3:00 PM	60		2	1	2	2			7	D	15.00	7	105.00	
3	3/26/19	3/29/19		3:00 PM	7:00 PM	60		2	2	2	2			8	D	20.00	8	160.00	
4	4/01/19	4/02/19		6:00 AM	10:00 AM	60	3	3						6	D	20.00	6	120.00	
5	4/01/19	4/02/19		10:00 AM	3:00 PM	60	3	3						6	D	15.00	6	90.00	
6	4/01/19	4/02/19		3:00 PM	7:00 PM	60	3	3						6	D	20.00	6	120.00	

Billing Proje	ctions: By M	onth					
		Mar 19	Apr 19				
	CA	425.00	330.00				
	ST	425.00	330.00				
✓ Print Spo	t Prices			TOTAL	SPOTS		41
				GROSS	S TOTAL \$		755.00
				ADJUS'	TED SPOTS		41
				ADJUS'	TED TOTAL		755.00
	·						
			••••	APPRO	VE DECLI	NE	
		************	••••••	\bigcirc		General Sales Manager/Interactive	
N979978				\bigcirc	\bigcirc	Business Manager	
g		g		\bigcirc	\bigcirc	Non Use	
				\bigcirc	\bigcirc	Political/Added Value Manager	